

$$27) \quad \begin{cases} (2x - \frac{5}{2}y = 13) \cdot 2 \\ (\frac{x}{3} + \frac{y}{3} = \frac{14}{15}) \cdot (15) \end{cases}$$

$$\begin{array}{r} 4x - 5y = 26 \\ 5x + 5y = 14 \\ \hline 9x = 40 \\ \underline{9} \quad \underline{9} \\ x = \frac{40}{9} \end{array}$$

$$\begin{aligned} 4\left(\frac{40}{9}\right) - 5y &= 26 \\ \left(\frac{160}{9} - 5y = 26\right) \cdot 9 \end{aligned}$$

$$\begin{array}{r} 160 - 45y = 234 \\ \underline{-160} \quad \underline{-160} \end{array}$$

$$\begin{array}{r} -45y = 74 \\ \underline{-45} \quad \underline{-45} \end{array}$$

$$y = -\frac{74}{45}$$

$$\left\{ \left(\frac{40}{9}, -\frac{74}{45} \right) \right\}$$